Chapter-1 Work Sheet _ [NISIRIERSIES
KNOWING OUR NUMBERS

1. A businessman earned Rs 3648970 in the year 2010. Next year, his
earning was increased by Rs956880. What was his earning in the
year 20117

2. A survey shpws that the population of Andhra Pradesh is 98306965
that of Karnataka is 89627598 and that of Kerala is 46308927. What
Is the total population of these three states?

3. The difference between two numbers is 9476583. If the smaller
number is 6873547. Find the greater number.

4. The population of a city in the year 2010 was 14693675. In the
following year, the populations become 18002403. Find the increase
in the population?

5. There was a stock of 17380245 quintals of wheat godown of the Food
Corporation of India. Out of this stock, 2756744 quintals of wheat
was sent to Haryana and 4863108 quintals to Punjab. How much is
the balance stock now?

6. The cost of a steel almirah is Rs 22875. What is the cost of 465 such
almirahs?

7. 6895 screws can be packed in one carton. How many screws can be
packed in 1685 such cartons?

8. The mass of each gas cylinder is 16 kg 250g. What is the total mass
of 18 such cylinders?

9. The piece of cloth required for a shirt is 2m 85 cm. How much cloth
will be required for 16 such shirts?

10. For making 16 shirts, 44 meters of cloth is needed. How much
cloth is required for each shirt?

11. A car covers 1002 km in 16 hours. At what speed per hour does
the car move?

12. A rope of length 10 m has been divided into 8 pieces of the
same length. What is the length of each piece?
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